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N.B. : (1) Figures to the right indicate full marks. &
(2) Draw neat diagrams and give schedules wherever necessary. 0
(3) Use of simple calculator is allowed.

1. Answer the following in short :

(a) What is normative economics" A,

(b) What is meant by supply? c_)r*i,\

(c) Define explicit cost. T
= (d) Give two characteristics of land. £V

(e) Give two features of monopoly. \\9’

(f) What does public debt mean?

(g) Write two types of direct taxes. &

(h) Give two features of capital market.

(1) Define small scale industries. Q\l\

() What do you mean by Proportional tax? %‘)/
S
2. Answer the following in brief (any four) : <\q/ 20
(a) Explain the relevance of Economics @, aw.
(b) Distinguish between micro and macioeconomics.
(¢) Explain the characteristics of la %
(d) Explain the causes for increasifg birth rate.
(e) Types oftax rates. Vor i
" (f) Functions of WTO. \q}‘
A% -
3. Attempt any two of the fo-ﬂp\‘?ving : 12
(a) Explain the types @f‘price elasticity of demand.
(b) Explain the const%z\lints in agriculture.
(¢) Given TFC @\SRS.ZSO/—, calculate the TVC, TC, AFC, AC and MC.
™

¥
Units ofoq}:,%ﬁjt TFC | TVC | TC | AFC| AVC | AC | MC

G 120
S 2 75
3 70

z 4 62.5

5 70
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4. Attempt any two of the following : 48
(a) State and explain the law of demand. What are its exceptions?
(b) Explain the features of Indian economy.
(c) Define agricultural productivity. What are the causes for the growth \"\9

of agricultural productivity? \QS\

(d) Discuss the factors responsible for the growth of population in IndiaffP
(e) Analyse the National Agricultural Policy-2000. Q
(f) Discuss the structure of Indian Money market. &3
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(3) ST ATEUAT HTU TISE H. @\(3
(3) R U THR .{\9’
(®) SIS IR o] (WTO) FH. @q’
49
3. B S R R, & %
(31) mmofieaT fhaa daiRde YRR TS 0. X
(&) FN e sre=vl Tuse %1 2
(%) U R ged (TFC)Ry o fediet st @refiar dcfcgl{flﬂ ECGR
Units of out put | TFC |TVC | TC |AFGHAVC | AC | MC
0 A :
1 | 120
2 S g 75
3 p“f? 70
4 \5\7 62.5
5 o 70
<>*“®/
¥, G T giaem méa (I Tn) %
(31) =it fagTa SR SUETEE Tt .
(F) 9Rd 37 afyrsed wqse 4.
(%) HfE3e ST fergl. FTY Seareha=aT aTEi= w0 HF AR ?

(3) YTATd AHEEAT 9 SeTeaeR U= SehHTat =1 1.

(3) TATP BT 2000° 3 Firgehew 0,

......................



Q.1

L0211 /L0139 ECONOMICS F-Q/b .-
= 20/9-18

FyBLS

Q.P. Code : 29145
[Time: Three Hours] | [ Marks:100]

Please check whether you have got the right question paper.
N.B: 1. Figures to the right indicate full marks.
2. Draw neat diagrams and schedules wherever necessary.
3. Use of simple calculator is allowed.

Answer the following in brief (20)
a) Define 'positive economics'. '
b) What is meant by 'relatively inelasticity of demand'?
¢) What is meant by Average variable cost'?
d) Define 'selling cost', :
e) Mention the names of factor prices for’ LabOur and capital.
f) What are the major causes for high birth rate in India?

- g) Give two reasons for low agricultural productivity in India.

Q.2

Q.3

Q.4

h) Give two features of Indian money market.
i) What is meant by disinvestment?
i) Mention any two indirect taxes in India.

Explain the following in short ( any four) (20)
a) Distinguish between positive and normative economics.
b} Explain the 'Geometric method' of measuring price elasticity of demand.
¢) Features of land.
d) Explain the main causes of inequality of income in India.
e) Explain the main objectives of New Industrial Policy.
f) Features of Indian capital market.

Answer the following (any two) (12)
a) Explain the features of monopolistic competition.
b) Discuss the problems faced by smafl scale industries in India.
c) Totalfixed cost is Rs 200/- Find out the TVC, TC, AFC AVC and AC from the following

information.

| Units of '-output 1 2 3 4 5 6 7
Marginal cost 50 |45 40 30 50 75 100
Answer in detail (any four) (48)

a) What is meant by price elasticity of demand? Explain the types of price elasticity of demand.
b) Explain the salient features of Indian economy.

c) Discuss the constraints that are faced by Indian Agricultural sector

d) Analyse the New Industrial Policy, 1991.

e) What is Wages? Explain Marginal Productivity Theory of wages.

f) Evaluate Indian Tax structure and its reforms since nineties (1990).
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N.B:

3 Use of simple calculator is allowed.

1. Answer the following in brief.
a) Define micro economics.
b) What is relatively elasticity of demand?
¢} What is meant by marginal cost?
d)} Write two features of monopolistic comp
e) Write names of factors of productlon A
Give two features of Indlan economy Py

What is public sector?

_\\___.
i) What is meant by money market?
Define direct tax. ,
2. 20
3. 12
. “‘AEé;AVC and AC for the following table.
Margﬁlai cost ¥ 50 2 30&;20 8 30
48

w

: "'\"\Qigcués tﬁe féaturéa bflndlan Capltal Market

lighenst

£} Evaluate Indxan Tax structure apﬁ tax reforms since 1990.

A831D34B711A8411AFC72EDOBASSDFDD



